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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) wheefl gdyem HOR -9 W AW A e |

Candidate must write first his/her Roll No. on the question paper compulsorily. =

2) a+t T & FA fEr g |

All the questions are compulsory.

3) Y% 9wl I & T8 Iui-giernt | & ford |

Write the answer to each question in the given answer-book only.

4) Tyl 8 sl @ve €, 39 ot & I T WY g o |

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) gF-uA & f&dl @ el wuiat § foRet wehm Y gfe /e / feienviE g9 W
ST % 9 ! el A |

If there is any error/difference/contradiction in Hindi and English versions of the
question paper, the question of Hindi version should be treated valid.

6) YA AT 14 ¥ 20 TIRH foehed 2 |
There are internal choices in Q. No. 14 to 20.
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SECTION — A

E‘gﬁﬂ-ﬁﬁ T
= vl & I 1 a9 fasen wE 0 Iw-gfta o fafag |
Multiple Choice Questions :

Write t

¢ correct option of answer of the following questions in the answer-book.

) - A 9w gfy S R s m tmm e R 0 (1]

H) oTHE Ty ) UTRIES Uiy
9) TgHe Uty 2) I
Which endocrine gland regulates metabolism for body growth ?
A) Thymus gland B) Thyroid gland
C) Adrenal gland D) Pancreas
ii) $H-¥ 9 &, Tega (qAeA) gRI 7T e 6 Iy 8 gt 2 7 1]
) wHREr q) ST
q) wisHifeTm Q) A
In which organism, new organisms can be produced by regeneration ?
A) Planaria B) Leishmania
C) Plasmodium D) Earthworm
iii) Ta o gah Teh dF I 9T &, S GEid @ - 1]
) 99 §) Y9Oq ¥
q) 3I@sH 4 ) diEsd 8
The kidney in human beings is the part of the system for —
A) Nutrition B) Respiration
C) Excretion D) Circulation
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V) Peferfaa § & S-m wiew gl 1 g R 7 1]
H) sgfem ) iR
) TR 3) WIAIHIEHA
Which of the following is an example of plant hormone ?
A) Insulin B) Thyroxin
C) Estrogen D) Cytokinin
V) T HH §H 8 F, it &1 7 yrew gar g @ - [1]
A) 1:2:1 ¥) 1:3
) 2:1 - R e T N |
Genotype ratio in F, generation of a monohybrid cross is —
A) 1:2:1 B) 1:3
C) 2:1 D) 9:3:3:1
vi) Frafafea & & = g ot &1 Rl e 38 it & foe
9T HETd 8 7 [1]
31) wrufie g
¥) fedta sassn
q) g Iare
Q) 3dIEH

Which of the following fix up the solar energy and make it available for

heterotrophs ?

A) Primary consumers
B) Secondary consumers
C) Tertiary consumcrs

D) Producers

S-07-Science [Turn Over

- .

(¥ Scanned with OKEN Scanner



vii) e o ) ashar Bisn R vd i g £ i ey 2 - 1]
) R=f§ ) R=f ) R=2f g) R=4f

The relation between radius of curvature R and focal length f of a spherical
MILTOT 1S —

f
A) R= > B) R=f C) R=2f D) R =4f

vii) ¥ S G, B | R F avarq 3o srmadt auit F fadf @ s
2 | T S gER HH g (Rrafr) B 2, 98 & - [1]

) & §) ¥) den 3) &

A beam of white light passing through a prism is split up into its constituent
colours. The light which undergoes least deviation is —

A) Red B) Violet C) Yellow D) Green
ix) Teu m¢ uftwy fom & foig Pug Q & wew qow wfedw 2 - 1]
4Q)
P Q
2Q) 202
3H) 10 ¥) 20 ) 40 ?) 80
The equivalent resistance between point P and Q in given circuit is —
4€)
p / Q
202 20D
A) 1Q B) 2€2 C) 4Q D) 8Q
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X) WHfeRes ¥ & wed areer fea & 9o @ - 1]
) wE ¥) ueyHifEm  |) g) did
Which of the following is best conductor of electricity ?
A) Tron B) Aluminium C) Copper D) Silver

xi) S T siyss frm & i waha A B - 1]
) Togm w6 g
9) g &7 i e
q) qedfi % grahy & < fem
Q) o1 & fawm

In the right hand thumb rule, the thumb points towards the —
A) Direction of current

B) Direction of magnetic field

C) Direction of earth’s magnetic field

D) Direction of force

xii) FEETER TrahE 87 % oFaad W@ T § fagd 9T vaTed 8 @R |
T W AN g H fewn ? - ' 1]
CILUS

. igtaaﬁma?ﬁﬁ
—
31) =t 3 §) erff R
¥) HIS Y AR H ATAC Y 7) HOS A offd Fi AR 7R

According to given diagram current is flowing in a conductor placed
perpendicular to a magnetic field. The direction of force acting on the

conductor 1S
Current 1

r

[ ; Magnetic field B

S —

— >

A) to the left B) to the right
C) out of the page D) into the page
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xiii) 1% 3R 77 Gewfeh ane % wegy oififean @ 3= M9 R - 1]
) H, 9) O,
q) CO, 3) SO,
The gas evolved on the reaction between zinc and dilute sulphuric acid is —
A) H, B) O,
C) co, D) SO,

Xiv) T IeRf e 1 pH oA 2 - [1)
H) 1.2 q) 7 ) 7.4 g) 10
pH value of a neutral solution is —
A) 1.2 B) 7 C) 7.4 D) 10
xv) Sifehan : 2PbOy) + Ciy — 2Pb, + CO, [1]
FH )OSR R wW R |
ii) e SRIATFATES ITIRA Bl W2 |
iii) T I9IRE B @I 2 |
iv) 98 ATeaEe IR A @i R |
Iuliaa AMfsRaT & folg 5y +YH 2 -
3) i) 3N ii) q) Hadl i)
) *ad ii) ?) iii) 3 iv)
Reaction : 2PbO, + C() = 2Pb ) + CO,
Statements : 1) Lead is getting oxidised.
i1) Carbon dioxide is getting oxidised.
1i1) Carbon is getting oxidised.
iv) Lead oxide is getting reduced.

True statement for above reaction is —
A) 1) and 1) B) Only i)
C) Only ii) D) 1ii) and iv)

S-07-Science

(3 scanned with OKEN Scanner



Eﬁ 7

xvi) BIERITE T & M Hi & 39 sl ) Hen § - 1]
) 3 q) 5
H) 6 3) 7
Number of electrons present in M shell of phosphorous atom is —
A) 3 B) 5
C) 6 D) 7
xvii) W FTESIHET § - [1]
H) CH, q) CH,
H) C,Hg Q) CeHg
Saturated hydrocarbon is —
A) C,H, B) C,H,
C) C,H, D) C¢Hq
xviii) T (CH,) ¥ IufRra qesdiors el i T § - 1]
) 4 q) 7
q9) 10 Q) 13
Number of covalent bonds present in methane (CH,) is —
A) 4 B) 7
C) 10 D) 13
2. T =yl 6 qfd AT
Fill in the blanks :
i) gt <t fe fpafafty frafa et 2 | 1]
A mechanism regulates the action of a hormone.
i) STETRd e JEENS # T e ' HEAT 7 | [1]

»

The web made by the branching food chains is called *
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i) WA foga o’ avd % @ s 8 it | 1]

Electric wires are usually made of copper because

v) WWWW%WWW &7 1 yecrar, B A
e # gfg w3 @ | [1]

By increasing the number of turns of wire in the coil, the strength of
magnetic field produced by a current carrying circular coil is

v) A faa & a9y § g w0 w S A w1 aw 2 | [1]

The name of compound obtained on burning of magnesium ribbon in air is

vi) &R 3 A 9 fr 7 g 2 | [1]

1s more ductile metal between gold and iron.

3. JAfq TeEUcHs 9 (W1 1 IO U veg AT Ueh Uiy A farfgu |)
Very Short Questions : (Answer the question in one word or in one line.)
i) vaaa + gitarfya Hifs | [1]

Define respiration.

i) Hftass &1 dH-T1 v Hitft @ ¥ e, gEfed wemE 9 9fHe 38| 5l
g0 a8 7 _ [1]

Which part of the brain controls walking in straight line, riding bicycle and

picking up a pencil ?

iii) IvAfeRR qsq 1 Hiz Th 3¢ feifln | [1]

Write any one example of bisexual flower.
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v) WS % A A wex % e get H1 AT w0 # Ad ? (1]
In the Mendel’s experiment what was the contrasting character for white

flower of pea ?

V) ﬁi‘ﬁ%%qﬁ—gm {wing)ﬁmﬁ?ﬂmﬂmmm% 7 1]

Which mirror is used as rear-view (wing) of a vehicle ?

vi) Frere 2R A & a9 = wmga € 2 [1]

What do you understand by myopia (near-sightness) 7

vii) gRey # feyerm m A frm I @ B 7 [1]

The potential difference is measured by which instrument in circuit ?

viii) Pt forega el e & ROl S AT 6 R A @A )
e | )
Draw the field lines of a magnetic field produced due to a current carrying

solenoid.

ix) CaO + H,0 — [x] +3H [1]
—ataa s o [x] 1 TaTEfe T foriey |

CaO +H,0 — [x] + Heat

Write chemical name of [x] in above reaction.
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X) SRt Fafa Hifso 1]

Draw beaker.

xi) rEifRafe It § Iuftg ywmaters g8 %1 g3 ffau | [1]

Write formula of functional group present in carboxylic acid.

Xii) W%aﬁﬁaﬁmﬁaﬁﬁgﬁqﬁmﬁaﬂﬁmw&wmmﬁ
TN B | 39 S&107 B frverwor ot ueh foremeff 4 vt & Siefy faewm %
®H-8 v Fi g fFan 2 frfau | 1]

When the aqueous solution of acid is put in electric circuit, the bulb

connected in circuit starts glowing. Write which property of an aqueous

solution of an acid did a student prove by analyzing this observation.

oue -«
SECTION - B
AYd{TcHh H3
Short Answer Questions :
4. IHLT qAT AT 9T °§ 3 fefge | 2]
Write difference between aerobic and anaerobic respiration.
5. 9redl ‘SIEHSTF:[,EIF&I fedi sl GHSISy | 2]

Explain phototrophic movements in plants.

6. W%ﬂﬂqﬁﬁﬁmﬁﬁmﬁaﬁﬁ%ﬂml [1+1=2]
Explain functions of two organs found in male reproductive system of human
beings.
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7. 994§ fom fufor #7 s R w96 | 2]
Draw a line diagram of sex determination in human beings.
8. e 5l wea & ¢ 3o g3 forfta | [1+1=2]

What is refractive index ? Write its formula.

9. =TS RN FT 01 Ao = BT 8 ? 2]

Why is the colour of the clear sky is blue ?

10. =] forg ufwet 3 faga w1 =1 s@m o= ffan s @ 2 2]

Why an electric fuse is used in domestic electric circuits ?

11. &S A% & 9199 ¥ RIS erRaATFEe Ma ¥ IaaeH &I Tehid 1 & fou
aferd 39T & Nt Hifso | 2]

Draw the systematic equipment for showing the emission of nitrogen dioxide gas

on heating lead nitrate.
12. 21\[;:11()1—1(1al g) +Zn(s)—}NaZZn02(s) all b4 [2]
I rfufean # [x] &1 9 9 g7 ferfew |

2NaOH,q) + Zn—>Na,Zn0, ) + [x]

Write the name and formula of [x] in above reaction.

13. Ffe FHR 315 FleA SEIATFAIEE H U Tl ¢ qf T9h! Ta8 T FT THE G0 7
avhéllfﬂm 2]

If copper is kept n moist carbon dioxide then what effect will happen on its surface ?
Describe.

S-07-Science [Turn Over

(3 scanned with OKEN Scanner



@ug -4

SECTION - C

3 IAUHF Ty -

Long Answer Questions :

14. FgaE (W) 8 51 Hro gugge au 35! @t @ | [2+1=3)
Explain the reason of menstruation and write its duration.

3UAT/OR
TfYE JfRTat S F SR F gugET 91 B8 U TS gl w1
T fafay | | [2+1=3]

Explain reason for adopting contraceptive devices and write the name of any one
contraceptive device.

15. 9IYASH % IR W T N T4 6l 5501 1 GHiRon g T9emse | [142=3)

Explain the process of formation of 0zone by an equation, at higher levels of the
atmosphere. https://www.rajasthanboard.com

SUAT/OR

arguse # 3 i 4 8 e 1 U6 7@ S fhg e S qe T 2,
g ZGeh! UHATH o 17T AT HeH ISWAT 74T 4T 7 [1+2=3]

Which chemical 1s considered to be a major cause for depletion of ozone in the
atmosphere, what step was taken to prevent this ?

16. 3 @1 fem foafte | wfeRie 1 ofoniva #0395 S 1 o =) fafau | T2
TR % fore favem-at @ um & 79 U i | [1+1+1=3]

What is Ohm’s law ? Define the resistance and write jts S.I. unit. Plot the graph

between potential difference and current for a nicﬁmme wire.

AYAT/OR
S-07-Science
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forgm ama =1 ardig warg @ 2 7 et s o 3a= 89 arel Fea R HRehl
R et @ 7 3l ¥ fram % o1 & forg aftey o amrd [1+1+1=3]

What is heating effect of electric current ? On which factors the heat produced in

a resistor depends ? Draw a circuit diagram for studying the Ohm’s law.

17. FAR-&R SiFar =1 gugmee 3k 3o fifga vt ofiew fafag | [2+41=3]

Explain chlor-alkali process and write chemical equation involved in it.

AYAT/OR

R Arer W s % yWE w1 ansse R 3o fafga et gt
fefgu | [2+1=3]

Explain the effect of heat on baking soda and write chemical reaction

involved 1n it.

Eus - §

SECTION -D

ECUICR S

Essay Type Questions :

18. i) IHtar ® 9wl <hy fafer i ey |
i) 3T GRI &ied MEH drereh Gamgw &1 A feiRay |
iii)Wﬁﬂﬁmﬁﬁmﬂﬂmml [1+1+2=4]
i) Explain mode of nutrition in Amoeba. |

ii) Write the name of protein digestive enzyme secreted by pancreas.

iii) Explain function of villi found in the small intestine.

FYat/OR
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) FHREE § Ao 6 i Y gz |
i) "G o Uy grn wifad Wide qrees Usen & 9 fafEu |
i) §79 I &gTd hl T ETE H1 397 Bidi 8 7 HRO T HIfAT | [1+1+2=4]

1) Explain mode of nutrition in Paramecium.

i) Write name of protein digestive enzyme secreted by gastric gland in human

beings.
i) Why does length of small intestine of Tiger is short ? Explain its reason.

19. i) fooeli fom =1 16 i PFa gl % sEqa g A 24 A Fi g wT@ B |
U & ferdHfl g W e @t @ e i e wfefes e @

An object 1s placed at 24 ¢cm in front of a concave mirror of focal length

16 cm. At what distance from the mirror should a screen be placed in order

to obtain a sharp image ?

ii) TFad gVl & | 3G Y9 U9 &I Bihd o 19 Ra fag & ufdfss
&1 forr 3@ s9133 | [2+2=4]

Draw a ray diagram for the image formation when an object is placed

between pole and principal focus of a concave mirror.

AYAT/OR

) U giFet + 2.0 D &FHaT 1 FuysE g Fulfa & 2 | o it wrew
gt td el T AT |
A doctor has prescribed a corrective lens of power + 2.0 D. Find the focal

length and nature of the lens.

ii) 1 A9 ) wErEdl | idfes F1 fF SR S & o F) qe oF,
% 7 o 2 [2+2=4]

Draw a ray diagram for the image formation when object is placed between
F, and 2F, of a convex lens. |
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20. e it w21 ge @A 3 sEs Y g B @ faverm i | [2+42=4)

Analyse the cleaning action of soap and detergent by giving structure of
micelles.

FUA/OR

mﬂmm&wqﬁﬁ ane <t fr=ferRaa stfafsranatt &1 favemm
|

1) CEIeRtr fisha

i) & & |y fufsean | [2+2=4]
Analyse the following reactions of ethanoic acid by giving chemical equations
involved.

1) Esterification reaction

i1) Reaction with alkali.
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